



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$10^{(-2)} - 9 =$$

$$(-1)^{(-1)} - (-9) =$$

$$(-4)^{(-2)} + 1 =$$

$$8^{(-1)} - 3 =$$

$$2 - (-3) =$$

$$(-4)^{(-1)} + 1 =$$

$$10^{(-1)} + 6 =$$

$$(-3) + (-9) =$$

$$5^{(-1)} + (-3) =$$

$$(-7)^0 + 3 =$$

$$(-10)^{(-2)} + (-5) =$$

$$(-8)^{(-2)} + 4 =$$

$$(-10)^{(-1)} + (-8) =$$

$$9^{(-2)} - 6 =$$

$$9^{(-2)} + 4 =$$

$$(-2)^{(-2)} + 2 =$$

$$(-2)^2 + 6 =$$

$$(-6)^{(-1)} - (-5) =$$

$$(-1)^2 + 10 =$$

$$7^2 + 8 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$10^{(-2)} - 9 = \left(-\frac{899}{100}\right) = \left(-8\frac{99}{100}\right)$$

$$(-1)^{(-1)} - (-9) = 8$$

$$(-4)^{(-2)} + 1 = \frac{17}{16} = 1\frac{1}{16}$$

$$8^{(-1)} - 3 = \left(-\frac{23}{8}\right) = \left(-2\frac{7}{8}\right)$$

$$2 - (-3) = 5$$

$$(-4)^{(-1)} + 1 = \frac{3}{4}$$

$$10^{(-1)} + 6 = \frac{61}{10} = 6\frac{1}{10}$$

$$(-3) + (-9) = (-12)$$

$$5^{(-1)} + (-3) = \left(-\frac{14}{5}\right) = \left(-2\frac{4}{5}\right)$$

$$(-7)^0 + 3 = 4$$

$$(-10)^{(-2)} + (-5) = \left(-\frac{499}{100}\right) = \left(-4\frac{99}{100}\right)$$

$$(-8)^{(-2)} + 4 = \frac{257}{64} = 4\frac{1}{64}$$

$$(-10)^{(-1)} + (-8) = \left(-\frac{81}{10}\right) = \left(-8\frac{1}{10}\right)$$

$$9^{(-2)} - 6 = \left(-\frac{485}{81}\right) = \left(-5\frac{80}{81}\right)$$

$$9^{(-2)} + 4 = \frac{325}{81} = 4\frac{1}{81}$$

$$(-2)^{(-2)} + 2 = \frac{9}{4} = 2\frac{1}{4}$$

$$(-2)^2 + 6 = 10$$

$$(-6)^{(-1)} - (-5) = \frac{29}{6} = 4\frac{5}{6}$$

$$(-1)^2 + 10 = 11$$

$$7^2 + 8 = 57$$